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% Write your answers in neat handwriting, P
1Y Answer the four questions in Part A, in the space provided.
| ¥ Of the five questions in Part B answer three questions only.
; I ¥ After answering, tie Part A and the answer script of Part B together and hand over.
' : : ) Part A
1 Ozone layer depletion, global warming, eutrophication, biomagnification and acid rains are a few direct effects
ol cnvironmental pollution. v ' -

(i) What is meant by biomagnification? 4 ¢ ¢ ym j/a +ion

5 ‘ Instructions:
|

Collection of/Concentrate toxic chemical pollutants/substances/wastes along with food chains

; ﬂ'df‘h— dhe.t.r.o h.rc.'-eve"to. t’hE -ot.her:.-, ................. et reenrrenay S PR URS 01
foo i) What is thé Tunction of the ozone Tayer? '

‘ ; ' lecfipPrevent/minimize the entry of (high energy) uv radiation (emitted by thie sun) to the earth surface./ acts as a
B f - - .

FARERN ¥ ;;y/\ protecti'veshicld ................................... S e 01
responsible for this? ,
global warming ° ' ) 01
tv) Consider the figures A and B. (These are rough
diagrams.) - e S N
(a) S':ui'tév} .\yhich' of “the above two effects aré”
shown by A and B.

...................................................

i (b) State two gases responsible for B and state one
ﬁ - method for each that releases each of these
gases. (Write the relevant method in front of
the name of the gas.) /
,S;;[fglqhurdioxide , SO3/ Sulphurtrioxide, - combustion of vulcanized rubbe

""""""" “'_"'"""“"'“‘"""B'dm“ih'g“bffossfl fue cterias on dead bodies " r Tt e s eene] gy
---------- NO/Nitric g)_fideNo,/-Nitrogandioxidel N,O/.N_it;rusoxide—f toing/Cambustion inside xehige.engioes. . . verreerghalinaa,
(v) Some solid waste material responsible for environmental pollution are as follows, )

Florescent Jamps, polythene, chemical fertilizers,_getergents, animal excretory matters

(a) Of the above, state a material which causes eutrophication, - :
Chemical fertilizers/detergents/animal excretory matters.

...........................................................................................................

..................................................................................................................................
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(¢) For which of the 4R waste handling tcchniques can each of the following activities be
a8 an example?

1. Use of organic fertilizer instcad or chemical fertilizer: .....Replace.(01)

II. Production of biogas using animal excretory matter: ........ Recycling/Recycle..(Q1).. .

([’ (vi) Write down two renewable energy resources which are eco-friendly.
oWy )

.............................................................................

e Geo thermal energy o Water

..........................................

2. (A) Invertebrates are separated into phyla based on their features.
() In the second column of the table given below, state the phylum which has each of t.-
indicated as a, b, ¢ and d in the first column.

Y ' Feature . ' . Phylum
a - Multicellular body build up of two germinal layers | Coelenterata/Cnidaria
b - Presence of a muscular foot

Mollusca ,
¢ - Living only in marine habiiats Echinodarmata §
d - Presence of a chitinous cuticle Arthropoda |

(ii) Name an animal that possesses the feature (a) given in ﬂé above( table./Hyd:a/sea.animony/;..-»,;
. v ) ‘ ol a : I
. ﬁ%*(iii) Writc down the kingdom and domain to which the phyla stated in’ Q5 SHBA ARNES =
' - Kingdom: . Animalia (01) Domain: ..... Eukarya ©1) ..

' ) ' award 01 mark for domain whether the answer is correc.
(B) Respiration is a process of living organismis: R

() (a) State the two types of respiration that can takes place in organisms.

.........................................................................................................

.Anaerobjc (respiration)/(respiration) without O, (01 ‘
(b) Whlé) %%2 oF t‘re Stevoaty%ey (og Srg'sp?lrat&ls swtelé in’ (ag azxwe produces more cner;:.

..................................................................................

(i) The apparatus needed to arrange a set-up to show experimentally, that carbon dioxide gas i«
during the respiration are given below without a sequential order. :

] . Calcium Hydroxide (solutic.
"(b) After putting the relevant solution into the bottle A, write down the correct sequence ;..
the above bottles (4, B, C, D and E) should be connected. .E, A,.C, .DJ.:B.‘/. E,D CA:
%\WW@ State what should be done after conm:cu all the bortles correctly.gj) he
M, ---Openthe tap.of hattle B.and remave the.watecin.it (slowly) / Qpen.the tap.. .

Award one mark i the answer is correct or wrong ‘
(d) Aferthestep men i (c) above, st ¢ change that could be observed in tiic

(2) What is the solution that should be put into the bottle A? .. lime water/ Ca (OH),(sol.i:.

.................................................................................................................

ive marks for the answer according to ritten inpart (b) .. -
(¢) Stardthe Chanze that ShouHl-be- Sonetoehe Aol et witten inpart. (bl . -
to the above experiment. RN ' '

...................................................................................................
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. 8. An shown in the lullowuq. figures, MgCl,, sugar and grease are. added to the test tubes A, B, C, D and E.

- e
trrparttiieEnt oF Examinitions » o . ’ : B .‘Confiden ;

B Ry T TV PN

Al that the:xubstancos in the tbes are stirred well. . _ \
Mfc’ oo aM.g(’»lw * Sugar Sugar - Greese

Meilliedd wuun i

() () :
() Wr Nn mnpoui_\rcly. the solute the solvent in this mixture.
Solute - Sugar (01) olvent - Kerosene ~(01)
o no marks fb'r 'gi"e”e'é'é' 'eih'c‘f ké’r’é’s‘é’r'\'e') """"""""""
(- (n)

NG iax & f olute Wthh dlSSOIVES in 100 g of a solvent at a certain temperature
N

.........................................................

.......................................................................

(b) What. factor that affccta lhe solubility can be shown by each of the followmg pairs of test tubes?
I Aand B: ... temperature. (01)........... Vavisreeninnniins
M. Cand D: ..........(RAtON : 9.1‘..59!349!!?. (01)

n. D nnd E: ...

fsolute (01

......................... on'..u....--............-.-...

c» bxc—o

(1) In the: above cxpcnmem 19 ¢ of ‘MgCl, w %ls added to the tube A and the total volume of the solution
formed was 10 .cm?,

(4) Find the numbes,of moles of MgCl added. Mg = 24, Cl = 355)
19 (g)
95( mo'l"’)

veresmevrsaecrarstevanstsacutna

cvveivenumber.of moles of. M.gclz

() W‘m

eclal properti poascssed by water due to the intermolecular forces.

g ) temperature o Havipg a &M&Fecmc zsatc acnty
; mt '“B 'uim:"t Havmg 3 hrgher é Kﬂ)fm ..................... rene
ks for.any two, q.f.a.bQV.e.) ........................................................... asdveansined

4.4 unuldcrtthe fnﬂnwing typcs of waves.

® Ultraviolet rays ~ ® Infra-red rays ® Micro waves ‘. X-rays
# Gamma rays @ Visible light ® Sound waves © Ultrasound waves
(1) Of the above waves, mention a wave that propagates with compressions and rarefaction.

rekpensieses Sound waves/Ultrasoundwaves i ireees B eersrand i a i

«n) Wnte down a special characteristic of. pltrasound wav
Having a freguency higher than 20 000 Hz )lDo not enter air after travellmg through a SO|ld medium/

Frequencv exceeds the upper- hmlt*'of hurman audible rangar--«+- \.n......: .............................................
(ili) In the field of medicine, which type of the above waves is generally used to observe the conditions

of the fetus inside the womb of a pregnant mother? -;-~f-.'---UItrasoundwwes ........... SEP

‘v) A part of the electromagnetic spectrum is ngen below. o SR -
A l B ‘Vtstble Light lUltravxolet rays l e [Gamma rays }

(a) Considering the sequence of above waves; write down' the types of waves that should be in the
placcc A; B and C..

A ] M !9.(9.%!@5..(91) ......................... ettt ettt e,
B Infra-red waves / IR rays (01)
O e ) T
C: Y() .............. DDy T P P OO R PTTE -

01

02 ~

02

03
02

03

2\

01

01

03
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(b) A wavcform relevant to Gamma rays is given below.

 aERaans e Saae
REEN _ i'; ] 1 T " L? o
T \ I 2 i - At =
i SR > I \ l“ : :
: S EeneaSmEsSTeTS
e R e e
rou h ) D
I. By which name thc point R of the wave can be identified? ..... t rouen .. POTOUTRURRIRON }
. Which physical quantity . of the wave is equal to the distance between the pomts P and ¢
the wave? .
. Wave Iength S : S .
tevrveveesreitaeratsietasnanirbaioretans - PP -

III, Considering the features of the waveform given above for Gamma ray%, draw a typical wavein
in the following grid, for the type of waves represented by C in the spectrum above Wht:n .
amphtudcs are equal

e At least two waves
should be drawn . C{

T - . v:AmQIi&,l*i%S“houle be
G&W“%“&H i / : ] . equal to the amplaud

|
T
—+

N AT of the wave given abe ¢
“ { ' N Y e Wave length shou i
| | \ be greater than tha4 a(il‘i\,,«
wave given above
vave has the hipi

- -

Ceereeeien Gammairays L ¥.c.1ays........... adangesnrsnntnes eoeteeetsereassaaasaneesaeennsann et esaans ol

.

) A dmgram depicting two instances P and @ of an. actwny done in the Iaboratory to study a cfa.ly
characteristic of sound waves is given below. A hacksaw blade is kept on the table and a heavy mah\ t’\am“
block is kept on the blade when this activity was done as shown in the figure. Then the blade. wrs
vibrated. . , Vibiz &a.f

VP4t verevasassssavasa PItCh " O >
................... eI I RIS
(b) On which physical quanuty does t.he chaxactenstlc yau mentnoned (a) above depend?
frequency C ]

(d) What conclusion can be amved at through this activity?

oo when the frequency increases the ph increases o]

' /when the frequency decreases the pitch decreases
(vi) How does the speed of sound in air vary with the temperaturc"

As the temperature increases. the speed of sound increases/ O')(

--------------- teveveevrerasunceannsseserrotysoraTsrrasrmanasaaay ..'-....--n--................-.--.......................uﬁ..4.

As the temperature decreases the speed of sound decreases

e | s poor” »'s ‘Ww\(v_ "X\M W\Mb!

i
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AN o et lons

o Part B -
Atuwer theok questions only, from i;l:x'eét'iohéi‘No, 5,6,7 8 and 9.

14 Avo;mua Mawwes of macronutrients prééent:'i‘n a biscuit of a'parucular brand
thlsle, -
B Macmnutnent Masg |
Proteins Lo 0.81 gl
Carbohydratcs g 5.67 g
Pt Tissg

h Wh«l um the elemcnts present m protems?

() (a) When » person consume
dives i digestion start?

(h). Nume: the enzyme that is added to food in thc part stated in (@) abo g
o which that' enzyme ncls, ( ) o ad sme the puement

(0) State the two substances that are mainly added to i&is food in the stonxdt:h.

() 1n which part of the dxgcsnvc system is the digestion of thls food completcd" :
() Suite’ the end products of this digestive process.

() Writo one’ adaptation of the human dlgestxvc system for efﬁcient absorption of .
dluemva prmcess. - orption of end products of

4 the pmcess ot' productnon of a-new generation from one generation. :
mmc glven o male and female gametes that contnbute to human reproductive

mmauc ccll how many . pairs of sex chmmosomes are prcsent"
the :sex .chromosomes, show, using a diagram, how sex is denerxmned in humans,
linked ‘'disorder- that occurs only in males?

Io- reuson for this disorder?
(Total marks 20)

B on, hydrogen, Oxygen, Nitrogen (Sulphur) i
4 'e_mentioned) one oh, g moanky o1
o or
02
CI/Hydrochlonc acid (01) ]
| o2
il o1
nosaccharides (glucose/fructose/galactose) (01)
no Acids (01)
acids (01) and Glycerol (01) N
Glve marks for any kind of monosaccharide) order is not required . 04
m ll Intestine is bemg a long tube
o P esence of circular folds in the inner wall of small intestine
T o Presence of finger like projections / villi in the c1rcu|ar folds
. Presence of microvilli in the’ (eplthehal cell of)villi
e Thin epithelial lining on villi
/ s 01 .
o Highly vascularised villi presevee () more rm/f Hmmnss by
(lee 01 mark for any one of above ) . Supp 1‘7 ﬁ:lfﬂj :
S : 1

- B S i TR I IR 2Rss i S “

e Bicicere

S A

e e e L e L
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B) ,(i)T— Sperm, (01) Ovum / egg (01) gy Za,s / ova )
(Order Is essential) b . : ‘ .
(i) T one (pair) | ™
movrcan S e X X XY
(iii) (gametes) ovum .1‘ .
T R x v
2 X XX xY]
O»l" ) Femate
X | xx| x vl
1 Comate  — male '
A mother cell E
for gametes - !
—_— * Tepresent female and male L
. or :
. () (&) :
(mother celf) XX /xv\ (mother cell)
(8ametes) ovum ® (sperm)
XXXy . xx . .
. ‘Female male ‘Female male on o “4
(iv)| (a) Haemophilia . | o1 {
(b)  Due to X linked recessive gene o1 |
Total v 2




ol

' @Kl) TT A- Lime Stone5/CaC03/Ca‘}ci'g{m carbonate (O1)

N
litmmnmmumu. Confident:
det e following lnduntriul pmdm,uon processc.
w“"""‘“"“
( Hea water --—--b olid N Elcclrolxsns
? N o A >+QD
: = heatin
¢ @+ (TR
] lM chem«cul reaction occur in A in the process of iron extraction, exothermic or endothermic?
Wuw the enorgy level diagram for this reaction and state reactants and products. i

(Vm (M)* Write the balanced chemical equation relevant to the production of iron from Fe,0;.

(h) nothis process 1680 kg of -pure molten iron was obfained from a 2520 kg of mixture of Fe,O,
. ~with iropurities. (In' this case, assume that all Fe,0; reacted completely.)

. I. Find the number of moles of molten iron obtained and calculate the mass of Fe,O, reacted.
(Fe = 56, = 16)

1. What is the mass of impurities presented in the mixture? ‘
: (Total marks 20)

.

L- Sodium/Na (01) | | .

- Chlarinebl Cl, (o1

X- Hydrogen/ H, (01) ' 04

exists as a gas at room temperature

density is lesser than that of air

colour less

- odourless

Slightly soluble in water
combstible gas

oooo'.o

( give one mark for any one of above) ;;_-7 o1

; (give ma eyaporatioh aIs’b:)
@cCrystallization (0 " .
: 02
(sequen not essential)
0'decrease/reduce point of (soild) NaCl .
| 01

Jsing a steel mesh diapht '/ separai_in'g anode and cathode
,h_y'a steel mesh

v.,gr"\;{o;hermic
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(b

energy (01)
A

* Ca0(s) + CO,{g) (O1)

(01)

CaCO. (S)

Give 01 mark for reactant or products_ I g %‘-““ wrih
(in that case, consider the physical/state) The S € 'jb""’w

e P kg

" (vii)a)

Fe;0; + 3CO—————>2Fe + 3C0,

ot

(b

het balm £ ne moarke

1680 x1000 (o1

* number of moles of (molten) iron = oo

=30 000 {moles} £81}:

Number of moles of Fe,0; (required to obtain ‘
' = 15,000 (01)

‘| 30,000 moles of molten iron)

2 Mass of Fe,0+ = 15,000 X 160 (01)

= 2400000(g)/2400(kg) (O

(Give 01 mark if 30,000 X 160 is given)

0s

Mass of impurities (in the mixture) = 2520 (kg) —2400(kg)

‘= 120 (kg) or 120 000(g) (ON

01

Total

4~ SCl’E’NCé {Marking Schama) - Naws Qullhiie 12 £ E 0 /1) Cunmninatinm 9048 1 A canade - o o -

s

e ._..él':';“"* i S -
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SR

. As shown in the figure, the water i

bought from o place below the reservoir through a tunnel,

Hinetgle

- turbin
G r—*‘-ﬁ'”«;.— - oy

() Acconding o the above information

#enorating hydroslectric power.

U The | ’Mngamgmms .‘Shows the way in which the alternating current electricity is generated in

ig‘)_n and supplied to homcs after transmission. (P, Q and R are transformers.)

L2l Power . -
e
: ) 230v '

22kxv .

, Write dqwn the léhergy tiﬁmhnhaﬁm_ that ‘tal'ces place in

“iwer
“whiblon:

@c,’gxxangemcnt#which heats up water in 2
the voltage supply.

taken to'heat the water upto 97 °C was
- immersion heater during that time. .. .
-above. Find the number of units of electricity

() What type of an arrangement is known as a_:

(iv) Write down an advantage of using solar cellam i
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@W |
.Potential ;)-9 Kinetic energy —‘—)ﬁ Electrical energy
energy
‘ or
Potential energy L.} Klnetlc energy ———> Kinetic energy
of water of water ‘ of turbine
(01)
. or Electrical energy
Potential energy transforms to kinetic energy (01)
Kinetic energy transforms to electric at energy (01)
(Give marks for the energy transformations only)
(i) (a) Step up (transformer)
® Ve Ny o Ys N
or
22 000(V) 8800 22 (kV) 8800
—_— or - ool
230(V) Ns o230(kv) Ng '
_ 8800 x230 - (01)
78T 7722000
Number of tums 92 (turns) (01)
(B) (i) Y
. 1 e Waterin the Y warms up fast due to movements of convectional current ffun
I S
(i) the bottom to the top (01) i ‘
In X it doesn't take place in the same way (01)
or : L
Water molecules in the bottom of;; e container heats by gaining heat from the
heater in the vessel Y. Heated water particles become lighter (decreasmg
density) and move upwards then the water particles in es in top level comes down G
fillthat gap and heated. (01) =
But the water parttcles at the bo_ttdm of’container are not heated in this way (..
° Amount of heat. loss to the envnronment from the heater in the vessel X is
greater than that of the heater Y (01)
1)




SRRy L

e ol ¥y

()

(i

w 1.8 (kg) % 4200 (Jk

X (97.< 27 )(K) (01)°
* L5 (leg) %4200 (Jkg= K1) % 70(K) (01)
» 441000 (1)/ 441 (kJ) . (01)

‘Fvu : ‘hgqgh mcO is not 'mehtio'hed give 02 marks for ébrnet:t'sdbstitutibn

__ :Energy - ‘ _ E _‘
o '°°W¢.~ri: “time . " 1 %1000 W) = 80 %60 (s) or

' }-,_'.f'.‘.'}lit':{é%:vilt'io 000(1)]};7480 (&) (on.
oy _

1 100w) x2(h) (On

=2 (kWh)/ 0.133 (kWh) (01)
, l’t.-ls not necessary

. &Wing_ Iong life time

o ‘ ) '
Glve one mark for angfxﬁe of above)

uym,;ber of units of electricity = 1(kW) x i% (h) X4 x30 (01
A ' - =16(kWh)/ 16 (units) (01)
or.
=2 x4 x30 (ON
= 16(kWh)/ 16 (umts) (01)
or
‘ —0133 X4 x 30 (01
= 15. 9 (kWh)(01)

or
- 4-80 000)(4-)(30
= e—_—

3600 000

Vo= 16 (kWh)(01)

(01)

n Junction /diode/ Photo diode

01

all electro motive force/voltage is generated across the P-n junction

ht energy is converted to electrical energy / aitH’s uﬂL{

01 mark for one of above) —X N6 Mmank ¢

01

o1

‘w‘nstage s bsgances

T4 G s i ey b e o g

s e

Total




Depa

rtment of Examinations

| ' o
lr (s. (4) Some main endocrine glands in the human body are given below.
i

’

(B) Following diagrams show some play items in a children park.

Pituitéry, Thyroid, Pancreas, Adrenal glands, Gonads

(). Which of the above glands is located below the hypothalamus?

(i) Write down, in correct sequence, the glands that secrete calcitonin and oestrogen and staic .
function of each hormone in correct sequence,

(i) (a) What is the gland that secretes the hormone which converts gludose to glycogen?
(b) In which organ of body, glycogen is mainly stored? 1
(c) What is the disease condition that occurs due to non-secretion of the hormone siaic.) -
above? LA

(iv) Write two fca_tures of the hormones secreted by the glands stated above.

. Y

7P

Figure (2)
Fo 4 F, gure (
=
I‘V AP e R A
Figure (1) a Figure (1) b ‘ Figure (3)

() As shown in the figure (1) a, a child is sitting in equilibrium and stationary in a swing. Fig ..
shows the corresponding force diagram for this situation. Write a relationship among F,, 1~
Here, F, and F, are the forces exerted by ropes, and W is the weight of the child and the sewi ©

(i) In figure (2),"the. mass of each child who is sitting on the two sides of the see-saw is 7=
(@) What can- be said about the resultant of the system of forces acting on the see-suw!

(b) The distance from the rotating point O to the place where each child is sitting s 1.5
the moment of the couple of forces acting there,
(iif) Figure (3) shows a play train in the park that moves in a straight line path. The veioc:
(V ~ 1) graph for its motion from the starting point to the ending point is given below.

T T 1 T

o
[ R,

)] Brieﬂy eXplain the natuce of the motioh .of the play-train. :
(b) The total mass of the train with the children is 1500 kg. Find the momentum of the .
the time duration from 5 seconds to 35seconds.

(¢) If the length of the play-train is 18 ‘'m, calculate the length of the railway.

(Tota? war!.
i ’

“434

- SthN(‘f-‘ {Markino R@chama) - NMaws Cuellhiir 1 2 A CIA R Fee S mmaen




’!M u i
i)

1)

i )y

B

ikl Feaminadom -

Confidential

Miuitary”

R

ot}

Calcitonin - Thyrold (01)
reduce calcium level/concentration in blood (01)
award one mark forany answer including calcium level in blood
Onslrogen- gonads (01] .
development (and mamtance) of secondary Sexual characters in .
females/ To rebuild wall of uterus- (during prohferatlon phase in
menstrual cycle) (01)  © Vd\“r 1L

!AM

04

Pancroas ,

o1

lec,sr

Dlabetes or
: 3 'glucoseJevel-/concentration In blood.

o]

o1

Organic compounds

“‘Transport through blood F’L‘“""]Q} s PQL\ M
“Produce at one site and acton another site

Stimulate target organs (only)

small concentration is suffi cnent/requnred

(lee two mark for any two of above)

W=F +F, /.sum of F; and F, |S:W:;W

)| Moment of a couple of forces = Force x perpendicular. distance between the lines of

Zero/ magnitudeb is0

actlon of thetwo forces
or

25 (kg) 10 (ms72) x-3m) (o1
375 (Nm) (01)

- - fid ST e af
. award these 2 marks for obtainin substltuting 3 inserted | @

he play train starting from rest traveled at a uniform acceleration for 5 s and
tqulred a velocity of 3 m s~ ., Next it moved ata uniform velocity of 3ms™?
1.5 sto 35 sand thenu uniformly decelerated from 35 s to40sto become rest.

rds' in bold letters are essentlal

01

mentum = Mass X Velocity
or

00 (kg) X 3 (m s‘i); (01)
4500 (kg ms™1) (o1

02

fanco traved/ areaof the  _ (30+40 1 3 3) + (X x5 ;
rapuzium/area of the graph gn 2 )x 3 or (2 x5 x ) +(30x3) + (2 %9.% 3) :

' =—x3 (75490 + 7.5) _ (01)
= ]05 (m) '

N Iength of the railway = 105 m + 18 m (01)

=123 m (01)

If the calculated distance (105) is wrong give one mark for adding 18

Total
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9. (4 A E G, J, LM, Q and R are 8 consecutive elements in the periodic table. The atomic 1.,
of .all these elements are less than 20. E naturally oceurs in allotropic forms and onc of e |
conducts electricity. (Here, the given symbols are not the standard symbols of the clements.)

(i) Whax is the element E? ,

(ii) Of the above elements, S
(a) which element occurs as a noble gas at room temperature?
(b) which element has the highest electro negativity? -
(c) which element is at the top most level of the activity series?.

(i) Draw the Lewis dot diagram of a molecule formed by the clemont G with Hydrogen.

(iv) Of the above elements, which element is most suitable to produce a sample of H, gas i
laboratory? - e o , .

(v) Write the balanced chemical equation for the reaction of R with steam.

(vi) Copy the diagram given below into your answer script and draw a sketch of the variation .

. fonization energy of the above elements. (It is not necessary to show the atomic number ..
values of ijonization energy. It is sufficient to mention only the elements.)

A}.

coergy

Firstionization

Ammlcnum;er
(8) In the following occasions @, @, @ and @®, optical .items/insuuments were used.
@ - A dentist examining teeth in 2 mouth of a patient
@ - A surgeon observing the intemnal organs in the body of a patient
® - A swudent observing cells in a blood sample in the laboratory
@ - A cricket lover Wwatching a cricket match from a far end of a pavilion

() (@ In which occasion a concave mirror was used?

(b) Represent with a ray diagram, the way in -which an image is formed in such a situatios ...

A
. take the object as 1).

(i) (a) What was the occasion where dn instrument with -optical fibres was used?

~(b) What is the name used for the phcnomnon that the ]j.g.ht__rays undergo when light ;..

through an optical fibre? N : .
(c) State the conditions that should be fulfilled. to-‘occur thephenomenon that is mentionea ...
above, P

(d) Another instrument where the phenomenon
another occasion given above. Mention that ¢
- that was being used in that occasion.

ntioned in (b) above oceurs, was also wse

(Total marks

ccasion and write down the name of the instra..

i
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(Physical states are not essential)

for cofrect shape of the graph - (01)
marking M -(01)
marking Q -(01).
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First jonizat

Atomic number

i ®/A dentist €xamining teeth in 4 mouth of a patient
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o "' ®) total internal reflection— S— — ;

1) ' -
o , * @/A cricket lover watching a cricket match from a far end of 5 Pavilion (01)
| - Prism binocular / binocular (03) Ao montey oo
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